THE ASIAN SCHOOL, DEHRADUN
HOLIDAY HOMEWORK - SUMMER VACATION 2017 FOR CLASS Xli

English:
PART- A
Note : To be done in Homework MNotebooks.
Long Answer Type Questions {To be answered in 150 words each)
Q1. The stary “The Last Lesson” is all about “Linguistic Chauvinksm®™ Comment.
Q2. what did the French teacher tell his students in the last French Lesson? What impact did it have on them? Why?
Q3. Would you agree that promises made to poor children are rarely kept? How do the incidents narrated in the text explain them properly in your
own language?
4. What thoughts does Kamala Das put away while travelling with her mother in the car? Why do you think she puts them away?
(5. The stary “The Tiger King™ is a satire one the conceit of those in power. How doos the author employ the literary device of dramatic irony in the
story? -
PART-B
Value Based Questions: [To be Answered in 150 words)
Q6. How did procrastination in learning French Cast the French people dearly? How can the vice of procrastination be overcome?
Q7. Do you relate to Franz and his habit of evading school work? Do you find his sincerity towards the end to be authentic? Based on your
understanding of the behaviour of young children, assess the character of Franz and list the values that you can learn from him.
Q8. If we all take a pledge to listen to the voice of our constience, the vice of child labour and exploitation would be easily eradicated from our
society. Commaent in 150 words.
PART- C
Read & Chapters of the Novel.
Q9. “The Invisible Man” By H.G. Wells and write Review of these chapters.
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Mathematics:
3-11 153
m.lfa"-[-ls [ —SIaDdB-[wl 3 ul find A"
S =2 2 0-21
Q2. Solve the following system of equation using matrix method :
E+£+E=4.1.E+ E-_l. o + hhEs
x ¥ = x ¥ - x ¥ |

1 2 =2
Q3. Find the inverse of the following matrix using elementary operationsA=|=13 0 1

0-2 1
a a+h a+b+c
2a 3a+2b da+3b+2c
3a ba+3b 10a+ &b+ 3c

=%

Q4. Using properties of determinants prove that:

1 1 1
0S.Ina A ABC,if| 1+ sind 1+ sinB 14 sinC [=0
sind + sin®A  sinf + sin®F  sinC + sin’C

then prove that A ABC is an isosceles A,

Q6. A= : E' _I]ll Prove that At =A-GA+ 11 L
Q7.For wh::: !.r‘.lllul.‘ Ef K. do the cquations 2x- 3y+2z =a, 5x + 4y = 22 = -3, x -13y +kZ= 9, not have a unigue solution?
3 =2 1
QRITA= [jl ; —lsl find A°! and use it to solve the following equations 3x-2y+2= Z, Zx4y-3z= -5, x+iy +z = 6,
Q‘E.vae that if A is a skew symmetric matrix of odd order n then 1Al = . "
Q0. IFA (xay1), B (xzyz) and € (xsy3) are vertices of an equilateral & whose each side is equal to°3" then prove that x: }}:; § =3a4
X3 ¥z
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Q12. Prove that Eorl("“""' e } =Z.x€ [ﬂ —]

1:1+Ilhz1' W I =§Dikx

(13, Prove that tan-ix + tan- '[—] = tam t{“"“}

Ql4 Ifsimrix +sinly +sinlz =g Provethat xVi—-x*+ yf1=3 +2 V=2 =2uz
Q15. Prove that sec? (tan't2) 4 cosec” (Cor'3) = 15

ﬂlﬁPrmrethatﬂn! + 5in L= -|-$“-|_IE %

ol _ &
Q17. Evaluate tan [Zmn 3 4}



Q18. Solve the following equations Ztan-1{cosx) = tan Y Zcosecx)
Q19. Solve the following equation sin*(1-x) -2sinix =
020, Prove that cos [tan™! {sin [cot ™ 'x)}] = ‘::::

43X =10JF X,
021, Find the value of K so that f{x) = s “ifx=0
K,
ifx =0
s continuous at x = 0
022, Show that the function f{x) = 2x-Ix] is continuous but not differentiable at x = 0.

dy _ fogx
Q23 If xr = e=7 then show that T

Q24. Differentiate tan [‘f— ]w:th FESpECt to X

Q25. Ify = log tan {E + ;} shiow that gi -secx=10.
QZ6. If y = s 4 “J*‘ . find &
QET. Using Rolle's ﬂteufem find the points on the curve y=x where € [-2,2] and the tangent is parallel to x axis.
Q8. Verify Lagrange's mean value theorem for the function {(x) = x +% in [1,3]

Q29. Ify = x* prove I:hat—- .l } =g
030, Differentiate with rt-s.-pect m bA
R Lt o
gin I[_.|+[$§j']
all=-t¥) dy
Q3L Fx=——"-— eaE e ﬁnd

& pos x ™ pt(r-"2re1}
032, Differentiate T —

Q33. lfx=a (9-sin 8Ly = a( 1-cos 0). f::rut Y atf=m

Q34. Find a point on the pa rabnl:l v = (x-3)* where the tangent is parallel to the chord joining (2,00 and (4,1)

()35, Find points on the l:un.'t-— . ?-': = 1 at which the tangent are parallel to (i) » axis (i) y axis.
Q36. Ify = x3 log (2 Fmvemutx-é—*-f"-- 2y 3e=0
Q37. Verify mean value theorem for the function f{x) = (x-4) (x-6) (x-8) on the interval [4,10]
03B, Examine the following function f(x) for continuity at x = 1 and differentiability at x =2.
fr—4 OG<x<1
fix) = l&x‘* Ixr 12x<2
3x+4 x=2
39, Prove that : 2ty 1["_

tan -I =gt [MJ

A&l cosx

Q40.Ising the prnp:-mos cll‘delenntnamx. prove d

1 -1

2x x(:r 1) x{.\' + 1) = fix2{1-x5)
Bx(1—a) x(x—Dix—-2) x{x+ Dx=1)

Q4L IFA= [i _32] show that A1 =14
Q42. Find 22 if (cosx)r = (cosy)*

Physics:

Q1. Make a project on :
a) Capacitor b) Metre Bridge c] Potentio Metre d) Moving Coil Galvanometar
e) Magnetic Materials & wypes of its ) AC current g) 5emi conductor and Devices
h] AC and DC generatar i) Communication 1) Microscope and Telescope k) Nuclear Reactor
I Transfarmers m) PNP & NPN Transistors

Q2. Write answers of all these questions in your homework notebook,
UNIT-1 ELECTROSTATICS

CHAPTER--1 ELECTRIC FIELD AND CHARGES

CHAPTER—2 ELECTRIC POTENTIAL AND CAPACITANCE
Q1. a) Calculate the charge carried by 12.5%10™ electrons.

b) What is the basic difference between force between two masses and the force between two charges?

Q2. Two identical metallic spheres A and 8 having charges + 4Q and -10Q are kept a certain distance apart. A third distance apart. A third identical
uncharged sphere Cis first placed in contact with sphere A and then with sphere B, Spheres A and B are then brought in contact and then
separated, Find the final charges on the spheres A and B,
Q3. Two identical metal spheres. having unequal opposite charges are placed at a distance 0.90 m part in air. After bringing them in contact with
each other, they are again placed at the same distance apart, Now the farce of repulsion between them is 0.025 N. Calculate the final charge on
each sphere.



Q4. Calculate the electric field strength required just to balanced a water drop of mass 107 ke and having a charge of 1.6%107™ € (g = 10ms ™).
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Q5. Why electricity field lines -

a) cannever intersect one anather?

b} cannot form closed loops?

¢} cannot have break in between?
QE. In the figure, electric field lines due to point charges g; and q; are shown,

i) What are the signs of charges g, and g,?

i} What is the ratio of g, and g7

(R
Q3. Three charges —q, Q and - q are placed at equal distances on 2 straight line. If the potential energy of the system of these charge is zero, then
what is the ratio Q: g7
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(110, The flux of the electrosiatic field through the closed spherical surface 5' is found to be four times that through the closed surface S (figure).
Find the magnitude of the charge 0. Given g, = 1¢C and q. = 9.854u(.

Q11. Consider two hollow concentric spheras 51 and 52 enclosing charges 20 and 40 respectively as shown in the figure.
a)  Find out the ratio of electric flux through them.
b)) How will the electric flux through the sphere 5, change if @ medium of dielectric constant £, is introduced in the space inside S, in place of

air? Deduce the necassary expression.
40

5
£
Q12. The graph in the figure shows the variation of charge Q with voltage V for twa capacitors K and L. In which capacitor is more electrostatic
energy stored? = ;

(113. Caleulate the potential difference the energy stored in the capacitor C; in the circuit shown in the figure. Given potential at A is 90 V.

A
Gy Cz Ca

Q14. Net capacitance of three identical ©  capacitors in series is 1uF. What will be their net capacitance if
connected in paraliel? Find the ratio of energy stored in the two configuration if they are both connerted to the same source.
Q15. The equivalence capacitance of the combination between A and Bis 4 uF,

a] Calculate the capacitance €,

b} Calculate charge on each capacitor, if a 12 W battery is connected between A and 8.

€} What will be the potential drop across each capacitor?



Q16 E = 3i +4j -5k, calculate the electric flux through a surface of ares 50 units in 7-X plane,

Q17. Given 2 uniform electric field £ = 5 X 10° i NC., Find the flux of this field through & square of 10 cm on a side whose plane is parallel to the y-2
plane, What would be the flux through the same square if the plane makes a 30° angle with the X-axis?

(18, Four point charges are placed at the four corners of a square in two ways (a) and (b} as shown in figure. Will the (i) electric field (i) electric
potential, at the centre of the square be the same or different in the two configurations and why?#
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013, A parallel plate capacitor is to be designed with a voltage rating | kW using a material of dielectric constant 3 and dielactric strength about 107
Vm™ . For safety we would like the field never to exceed say, 10% of the designed strength, What minimum area of the plates is required to have a
capacitance of S0F?
Q0. The two plates of a parallel plate capacitor are 4 mm apart. A slab of dielectric constant 3 and thickness 3 mm is introduced between the
plates with its faces parallel to them, The distance between the plates is so adjusted that the capacitance of the capacitor becomes 2/3° of its
ariginal value. What is the new distance between the plates?

UNIT- 2
s CHAPTER-3 CURRENT ELECTRICITY
(21, Draw a graph of show the variation of resistance R of the metallic wire as 2 function of its diameter D keeping the ather factors constant.

R,

=0
Q22. Calculate the current shown by the ammeter in the circuit shown in figure,

Q23. Nichrome and copper wires of the same length and same diameter are connected in series in an electric circuit. In which wire, the heat by
produced at higher rate? Give reason.

024, Two identical cells, each of emf E having negligible internal resistance are connected in parallel with each other across an external resistance
R What is the currant through the resistance?

Q25.Two cells each of emf E and internal resistances rl and r2 are connected in series to an external resistance R. Can a value of R be selected such
that the potential difference of the first cell is zero.

Q26. Use Kirchhoff's rules to determine the potential difference betwesn the points A and D when no current flows in the arm BE of the electric
netwaork shown in the figure,

028, Figure shows two circuits each having a galvanometer and a battery of 3V. When the galvanometer in each arrangement do not allow any
deflection. Obtain the ratio R,/ R,.




029, In 3 potentiometer arrangement, a cell of emf 1.20V gives a balance point at 30 cm length of the wire. This cell is now replaced by another cell
of unknown emf, If the ratio of the emf's of the two cells is 1.5, calculate the difference in the balancing lengths of the potentiometer wire in the
two cases.

Q30. Two primary cells of emf E, and E, (E,> E;) are connected to the potentiometer wire as shown in the figure. If the balancing lengths for the
two cases are 250 cm and 400 em. find the ratio of E; and E..
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Q31 The plot in figure shows the variation of current | through the cross- section of 4 wire over a time interval of 10s. Find the charge that flows
through the wire over this time period,
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032. A resistance R is connected acress a cell of emf £ and internal resistance r. & potentiometer now measures the potential difference between
the terminals of the cell as V. Write the expression for r in terms of E, V and R,
Q33. An infinite ladder net work of resistances is constructed with 18 and 2 0 resistances shown, & 6V battery between A and B has negligible

resistance. Find the effective between A and B.
gk ¢ 18 10 3£

BVT
g8 o F

Q34. In the circuit shown, Ry =4 0, Ry =Ry = 15 1 R, =30 {l and E = 10V, Calculate the equivalent resistance of the circuit 2nd the current in each
resistor.
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Q35. Caleulate the value of the resistance R in the circuit shown in the figure so that the current in the circuit is 0.2 A. what would be the potential
difference between the points B and E?
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(36, Can a 30W, 6V bulb be connected with supply of 120¥7 If not, what will have to be dane for it?
Chemistry :

*  Prepare a investigatory project on the topic — “Mentioned in CBSE Site.”
®  Write answers of all these questions in your homework notebook.

Q1. A solid is made up of two elements P and Q. Atoms Q are in cep arrangement while atems P occupy all the tetrahedral sites, What is the
formula of the compound?
Q2. In chromium (1) chioride, CrCl;. ehioride ions have cubic close packed arrangement and Cr (11l ions are present in the octahedral holes. What
fraction of the octahedral holes is occupied? What fraction of total number of holes i occupied?
Q3. A solid A" B has MaCl type close packed structure. If the anion has a radius of 250 pm, what should be the ideal radius of the cation? Can a
cation C” having a radius of 180 pm be slipped into the tetrahedral site of the crystal A™h'? Give reason for your snswer,
04.An element E crystallizes in body centred cubic structure, If the edge length of the cell is 1-465%10™ m and the density is 19.3g cm ", calculate
the atomic radius of this element.
Q5. Calculate the density of silver which crystallizes in a Face-centred cubic structure. The distance between the nearest silver atoms in the
structure is 287 pm. (Molar Mass of Ag = 107.87 g mol™, N, = 6.02%10™ mal?)
Q6. Aluminium metal forms s cubic-packed crystal structure. Its atomic radivs is 125X10-" m. (a) Calculate tha length of the side of the unit call, (b)
How many such cells are therea in 1_0ﬂm3 of aluminium?
Q7. What is the difference between cubic close packing and hexagonal close packing? Give three examples of elements of each type. What is the
coordination number in each case?
Q8. Explain the nature of crystal defect produced when sedium chioride is doped with magnesium chloride.
Q8. Explain superconductivity?
Q10. A solution contains 50g of Hy0,, 6.4 g of methanol and 18.4 g of glycercl. What is the mole fraction of ghycerol?
[Ghycerol = CH,0H — CHOH —CH,0H)
Q11. Concentrated nitric acid used as laboratory reagent is usually 69% by mass of nitric acid. Calculate the volume of the solution which containg
23g of HNOs. [The density of the concentrated nitric acid solution is 1.41 g cm ™).
(12, H;50, used in lead storage cell is 38% by mass and has a density of 1,30 g em . Calculate its malarity.



Q13. the vapour pressures of benzens and toluene at 293 Kare 75 mim and 22 mm Hg respectively. 23.4 g of dbenzene and 64.4¢ of toluene are
mixed. If the two form an ideal solution, calculate the mole fraction of benzene in the vapouwr phase assurning that the varpourare in
equilibrivim with the liguid mixture at this temperature.

Q14. Benzene and teluene form nearly ideal solution. At 3 certain temperature, the vapour pressure of the pure benzene is 150 mm Hg and of pure
toluene is 50 mm Hg. For this temperature, calculate the vapour pressure of solution containing egual weights of two substances. Also
calculate their composition in the vapour phase.

15, A solution of sucrose [molecular mass 342/mol] is prepared by dissolving 68.4 g of it per litre of solution. What is its osmotic pressure at 200
K? (R = 0.082 lit. atm deg™ mal™),

Q1E. At 300K, 36g of glucose present per litre in its solution has an osmotic pressure of 4.98 bar. If osmotic pressure of the solution is 1.52 bar at
the same temperature, what would be its concentration?

Q17.0.90g of a non electrolyte was dissolved in 87.90g of benzene. This raised the beiling point of benzene by 0.25"C. if the molar mass of non-
electrofyte is 103.0 rnu:ll'ir calculate the molal elevation constant for benzene.

Q18. A solution of ghycerol (CyHg05), molar mass =92 g mGI"', in water was prepared by dissolving some glycerol in 500 g of water, This solution has
a boiling point of 100.42°C. What mass of glycerol was dissolved to make this solution? K, for water = 0.512 mol ™,

Q1% Pure solvent A has freezing point 16.5°C. On dissolving 0.4 g of B in 200g of A, the solution freezes at 16.4°C and non dissolving 2.24g of Cin
100g of A, the solution has freezing point of 16.0°C. if the molar mass of & is 7dg mal®, what is the molar mass of C7

020. A soiution of an organic compound is prepared by dissolving 34.2 g in 500g of water, Calculate the molar mass of the compound and freezing
point of the solution. Given that K, for water = 0.52 K mol™ B, pt of solution = 100.104°C. K:for water = 1.E7K mol ™,

Q21. Determine the osmotic pressure of a solution prepared by dissolving 2.5:-:10"3 of K50, in 2L of water at 25°C, assuming that it is completely
digsociated,

(R = 0.0821L atm K™ mol™, Molar mass of K.50, = 174 g mol )

022, Phenol associates in benzene to a certain extent to form dimer. A solution containing 2.0%107 kg of phenol in 1.0 kg of benzene has its
freezing point decreasing by 0.69K. Calculate the degree of assoriated of phenol (K, for benzene = 5.12 kg mol™).

(23. show graphically how the vapour pressure of a solvent and a solution of non volatile solute change with temperature? Show on this graph the

boiling points of the solvent and the solution. Which is higher and why?

Q24. How many moles of mercury will be produced by electrolyzing 1.OM HgiNO4), solution with & current of 2.00 A for 3 hours? [Hg{NO,), =

200.6g mol,]

025. How many hours does it take to reduce 3 mal of Fe™ to Fe™” with 2.00 A current? | 1 Faraday = 96,500C mol™, & = 8.3141" mal™)

026. Tha resistance of 2 decinormal solution of an electrolyte in a conductivity cell was found to be 245 ohms. Calculate the equivalent
conductivity of the solution if the electrodes in the cell were 2 cm apart and each has an area of 3.5 sq. cm.
Q27. Molar conductance of a 1.5 M salution of an electrolyte is found to be 138.9 siemen cm®. What would be the specific conductance of this
solution?
Q28.Give malar conductivities at infinite dilution : A°m for Ba (OH)= 457.6 0 ° cm® mal™
A'm for BaCly = 240,60 em® molt, A'm for MH.Cl = 129807 cm” mol™. Calculate A%m for NHL0H,
Q20.Cu™" +2e — Cu, E"=+034V :4g" +1e — Ag E'= + 080V,
i construct a galvanic cell using the above data.
i) for what concentration of Ag' ions will the emf of the cell be zero at 25°C , if the concentration of Cu® is 0.01M? {log 3.919 =
,593)
Q30. What type of battery is lead storage battery? Write the anode and the cathode reactions and the overall reactions occurring in a lead storage
battery.
Q31. What is a fuel celi? Give the construction and working of a fuel cell,
Biology: Prepare an investigatory project report on any one topic out of the following — Infertility in human/ IVF Technology/ Assisted Reproductive
Technalogies/ Tissue Culture/ Apiculture/ Amniocentesis/ Female Foeticide/ Conservation of Biodiversity/ Study of Hematology of man/
Bacillus thuringiensis/ Sexually transmitted Diseases/ Study of Ascariasis in children/ GM plants and animals/ Vermicompositing/ Organic
Farming/Study of Air Pollution and its control in Doon Valley/ Plastic waste and its remedy,
Instructions :
i} The project report should be handwritten in A-4 size pages.
i} The project report should be presented in the following order-
‘a) Cover Page showing title of the project, student information name of school and academic session.
b} Acknowledgement
¢} Chapters with relevant headings
d} Summary and Conclusion based on findings
e] Bibliography
ifi} Credit will be awarded to the original drawings, illustrations and craative use of materials.
iv) All photographs and sketches should be labelled and acknowledged.

History : The students should make a project file on “THROUGH THE EYES OF TEAVELLORS'. The project should consist of the following :

a) Title Page b} Acknowledgment c} Table of Contents d) introduction e) The body of the project should have
description of the Traveller's Accounts on India, Pictures, Data and other ralevant information.
f) Conclusion should have students” obsenvations on the topic. g) Bibliography and References

Geography . Prepare maps in accordance to the list provided by the subject teacher and also prepare the introduction of field survey.

Economics | Students to pick ANY OME of the two suggested projects :
d) Project (OPTION) ONE : What is going around us. {eg. Demonetization, Goods and Services Tax)

Scope of the Project : a} Introduction b} Details of the topic ¢} Pros and Cons of the Economic event
d) Major Criticism related to the topic &) Students views and perceptions
b)  Project (OPTION TWO) : Analyse any concept from the syllabus.
Scope of the Project: a) Explanation of the Concept b} Application of the Concept ¢] Diagrammatic Explanation

dj Numerical Explanation related to the concept if any ] Students own views and perception.




Account:
Q1. A limited was registered with an authorized capital of As 2,00,000 divided in Rs 10 shares, During the first year 6,000 shares out of the above,
“were ssued to the vendors of building, 8,000 shares were offerad to the public and Rs § per share were called up. On application Rs 2, R= 1 on
allotment. Rs 1 on first call and Rs 1 on second call. the amounts received on these shares were as follows :
On 6,000 shares the full amount calied,
On 1,250 shares Rs 4 per share.
On 500 shares Rs 3 per share.
On 250 shares As 2 per hare.
The directors forfeited 750 shares on which less than Rs 4 per share were paid,
show Journal Entries to record the above transactions and show the above transactions in companies balance sheat.
(2. Sita Led. invited applications for 50,000 equity shares of R 10 each, payable as under :
Rs2 On application
As3 On allotment
Re 2 On first call
As 2 On final call
Applications were received for 85,000 shares, Pro-rata allotment was made to the applicants for 70,000 shares, remaining being refused.
Ovar payments on application were to be applied towards sum due on allotment.
Mar. A, a holder of 200 shares failed to pay allotment money and on his subsequent failure to pay first call, his shares were forfeited.
Mr. 5 a holder of 750 shares failed to pay two calls. These shares wers forfeited after the final call was made.
Out of these, S00 shares were re-lssued to Mr. G @ Rs 8 per share fully paid up (whole of Mr. A% shares being included) Pass journal
enkries,
3. ‘sugandha Exports’ Ltd. invited applications for 10,000 Equity shares of Rs 10 each for public subscription. The amount payable on shares is
payable 3s under :

On Application Rs 1 per sharg
On Allotrnient Rs 2 per share

On First call Rs 3 per share

On Second Call Rs 4 per share *

All monies payable on application, allotment and calls have been duly received with the following exceptions ;

A whio hold 100 shares Tailed to pay the money on allptment and call,

‘B' to whom 50 shares have been allotted failed to pay the money on first and final call.

C' wha holds 30 shares, have not paid the amount due on final call .

The share of ‘A" 'B" and 'C" were forfeited.

Pass journal entries in the books of Sugandha Exports Ltd, including bank transactions and show the above transactions in companies balance

sheet,
04, A’ Lud, invited applications for 15,000 equity shares of Rs 10 each payable as foliows
On Application Rs 2 per share
On Allotment Rs 3 per share
On First Call Rs 4 per share
On Second Call Rs 1 per share

Al the shares have been subscribed and paid for except the following :
a} X, who held 300 shares, failed to pay the money on allotment and calls.,
Bl Y, towhom 200 shares have been allotted, failed to pay the money due on first call and final call.
¢} 7, to whom S00 shares were allotted, has not paid the amount due on final call
The shares of X, ¥ and 2 are forfeited and are subseguently re-issued far cash as fully paid 3t 2 discount of 10%.
Give necessary journal entries to record these transactions in the books of A. Ltd.
Q5. “A' Limited Company invites applications for 50,000 equity shares of Rs 10-each payable as follows :

On Application Re3
On aliotment Rsd
On First Cail Rs 2

(in Final call the balancs
Applications were received for 55,000 shares. Allotments were made (o the following basis:
a)  Toapplicants for 35,000 shares —in full.
b} Toapplicants for 20,000 shares- 15,000 shares.
Excess money paid on application was utilized towards allotment money.
A share holder wha was allotted 1,500 shares out of the group applying for 20,000 shares failed to pay allotment money and money due
on calls. These shares were forfeited, 1,000 forfaited shares were re-issued @ Rs 8 per share fully paid up.
Show the Journal entries in the book of company.
QE. A company offered 10,000 shares of Rs 10/- each payable as Rs 2/- on application, Rs 3/- on allotment Rs 3/~ on 1" call and Rs 2/- on the final
call.
The public applied for 15,000 shares, the shares were allotted on 2 pro-rata basis to the applicants of 12,000 shares, All shareholders pald the
allotment money excepting one shareholder who was allotted 200 shares. These shares were forfeited. The first call was made thergafter. The
forfeited shares were re-issued @ Rs 8/- per share Rs &/ paid up. The final call was not yet made.
You are reguired to prepare the Cash Book and Pass journal entries,
Q7. ‘Bharat’ Ltd. invited apphcations for issuing 2,00,000 equity shares of s 10 each. The amount was payable as follows :
On Application Rs 3 per share; On Allotment Rs 5 per share, and on First and Final call Rs 2 per share.
Applications for 3,00,000 shares were received and prorata allotment was made to all the applications.
“Bajaj”, who was allotted 3,000 shares failed to pay the allotment and call maney. His shares were forfeited. Out of the forfeited shares 2,500
shares were reissued as fully paid up @ Rs & per share.
Pass the necessary journal entries to record the above transactions.
OB. P & | Ltd, Company was established with an authorized capital divided into 4000 shares of Rs 10 each. 32,000 shares were issued and
subscribed for by the public payable as the amount received in respect of these shares were as follows @
on 24,000 shares full amount called
on 5,000 shares Rs & per share


















